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101.

102.

103.

104.

105.

106.

In which year was the Khunti district separated from
Ranchi?

(A) 2003

(B) 2002

(C) 2006

(D) 2007

Which among the following instruments is used to
measure and record details of an earthquake?

(A) Seismograph

(B) Variometer

(C) Sonograph

(D) Barometer

For which product “Pratyaksha Hastaantarit Laabh”
scheme was launched by the government?

(A) Water

(B) Liquefied Petroleum Gas

(C) Landline Phone

(D) Electricity

What percentage of population of Jharkhand state
practices agriculture?

(A) 95%

(B) 30%

(C) 80%

(D) 45%

Which among the following festivals is celebrated
ONLY in Jharkhand?

(A) Shivarathri

(B) Janmashtami

(C) Sohrai

(D) Pongal

The metal craft practiced by Malhar and Tentri tribes
of Jharkhand is

(A) Artisan

(B) Dokra

(C) Chikankari

(D) Azulejo
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(D) sragetsit
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107.

108.

109.

110.

1.

Ty

Which of the following Acts led to the division of India
into two independent entities, as India and Pakistan?
(A) Indian Independence Act

(B) The Mount Baton Plan

(C) The Wavel Plan

(D) The Government of India Act

Who among the following is the first woman governor

of Jharkhand who came into power as on June 20157

(A) Draupadi Murmu

(B) Urmila Singh

(C) Kamal Beniwal

(D) Prabha Rau

In which of the following waterfalls of Jharkhand,
Gautam Buddha Is believed to have bathed?

(A) Dassam Fall

(B) Jonha Fall

(C) Hundru fall

(D) Hirni Fall

In which year did the Portuguese first arrive in Sri
Lanka, a neighbouring country of India?

(A) 1716

(B) 1515

(C) 1605

(D) 1505

What is the highest honour award given to civilians in
India?

(A) Padma Vibhushan

(B) Param Vir Chakra

(C) Padma Bhushan

(D) Bharat Ratna

Who was the last ruler of Mughal empire?

(A) Akbar

(B) Jahangir

(C) Aurangzeb

(D) Bahadur Shah Zafar

107.

108.

109,

110.

111.

112.

Fraferfar & F B 9t § sia: @ 1 21 e
THRTEAT AT S T F = § e B g
(A) T T it

(B) A= = FrsteT

(C) =Tae AT

(D) w1 HEwT FiEtHTy

ST 2015 i Rafir ¥ srame, Rrefifem # & £
AT wreEvs 1 TEet AiRET e F e § i
(A Frodt

(B) 3fife g

(C) FFa afaars

(D) w47 T

HATCETE ¥ T ey 6 9T arer 2 B et
= 7 = T ar?

(A) FeT9 ST

(B) St st

(C) g= s

(D) fEet stersra

ettt e =nd & waet AT AT F St dor, fteiwr
TET 47

(A) 1716

(B) 1515

(C) 1605

(D) 1505

AT H AT = Rt e e a4ty aw
T AT 27

(A) =7 Fargem

(B) ww e =

(C) =7 "o

(D) e 7=

I HTETST T T3 o #9977
(A) FaT

(B) sEfifrz

(C) lrizrara

(D) FETEE 9ITE TR
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¥

113.

114.

115.

116.

117.

118.

Which of the following minerals is NOT produced in
Jharkhand?

(A) Coal

(B) Bauxite

(C) Iron

(D) Petroleum

Which of the following festivals is celebrated during
March-April and also known as “festival of flowers™?
(A) Sarhul

(B) Karam

(C) Jawa

(D) Makar

Which of the following waterfalls forms the highest
cataract in Jharkhand, falling from an average height
of 468 feet?

(A) Dassam Fall

(B) Hirni Fall

(C) Panch Gagh Falls

(D) Lodh Fall

Which among the following is the national animal of
Bhutan?

(A) Takin

(B) Fennec fox

(C) Karabakh horse

(D) Bison

Jharkhand state came into existence in the year
(A) 2001

(B) 1999

(C) 1990

(D) 2000

Which neighbouring country of India's national
currency is kyat?

(A) Nepal

(B) Bhutan

(C) Bangladesh

(D) Myanmar

113.

114.

115.

116.

i

118.

Fafafe & & $ a7 afaw s § senfa 736 g
EX:

(A) e

(B) atFaTsZ

(C) =g

(D) Fgrfers

Frafefam & & Fi7 o7 =g - F 7EE § gar
ST oA et T T T T A g

(A) FTE=

(B) +78

(C) STaT

(D) 757

A 468 iz £t Sard & fie #, Refiae # asw

AT ATV SATCETE | T T AT FTTHAT FAT 52

(A) =99 ST

(B) fezeft s

(C) o= 7 Sy

(D) ey ST

Fraforfas & & =19 |7 7% 9217 %1 TEiT 79 27

(A) =

(B) e ATHET

(C) Frrag =r=T

(I REEIRS

T ad o s wE T ¥ wy i faes § 917
(A) 2001

(B) 1999

(C) 1990

(D) 2000

AT o o wEt Sor 1 wofi wey () TR £

(A) Fmer
(B) =11
(C) aiveTayr
(D) =HTC
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119.

120.

121.

122,

123.

124.

Who elects the members of the Lok Sabha?
(A) Member of Rajya Sabha

(B) Chief Ministers

(C) Central Cabinet Ministers

(D) People of India

The capital of Jharkhand is

(A) Ranchi

(B) Hazaribagh

(C) Giridih

(D) Bokaro

Which neighbouring country of India has' Yuan |
Renminbi* as its national currency?

(A) China

(B) Nepal

(C) Bhutan

(D) Sri Lanka

In which of the following rivers is the famous Lodh
Fall in Jharkhand?

(A) Kanchi river

(B) Banai river

(C) Ramgarha river

(D) Burha river

Which Five Year Plan is ongoing in India?
(A) 10th

(B) 9th

(C) 12th

(D) 14th

Indian Standard Time is calculated on the basis of
which longitude?

(A) 82.5° East

(B) 82.5° West

(C) 83.5° East

(D) 83.5° West

119.

120.

121.

122

123.

124,

S AT ¥ TEEAT T =TT 1T FA7 27

(A) T=T HAT & qEeq

(B) Ty

(C) i Ffarrz ¥ wefimor

(D) 9T F AT

AT FiT T T £7

(A) Tl

(B) EwTEtaTT

(C) Fredty

(D) ST 3

ared ¥ e TERfT 2er i ot T (F6R) s
et g7

(A) =i

(B) Farer

(C) =T

(D) et

areavs § fafafes § & f 78 & sfig S seae
ERELEAS

(A) == 7t

(B) =TS AT

(C) T/ Wz T4

(D) &t 7t

AT # 50 a0 F HY T Frer =w w5 i
(A) Z=AT

(B) =t

(C) FrEat

(D) Sfrazat

ST T T Ty By 3ariae & same we afafr R
ST 82

(A) 82.5° 75

(B) 82.5° ufarm

(C) 83.5° &

(D) 83.5° wfqy
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¥

125.

1286.

127.

128.

129.

130.

Who is the Chief Minister of Jharkhand as on October
20157

(A) Tarun Gogo!

(B) Dr. Raman Singh

(C) Raghubar Das

(D) Virbhadra Singh

Which neighbouring country of India was known as
Burma in the past?

(A) Sri Lanka

(B) Pakistan

(C) Nepal

(D) Myanmar

In which year did Bangladesh come into existence?
(A) 1965

(B) 1971

(C) 1969

(D) 1980

Which among the following is the longest rivers in
India?

(A) Ganga

(B) Krishna

(C) Narmada

(D) Mahanadi

Which among the following is the financial capital of
India?

(A) Delhi

(B) Bengaluru

(C) Mumbai

(D) Ahmedabad

Who got the Nobel prize for peace in 20147

(A) Shirin Ebadi

(B) Jody Williams

(C) Nelson Mandela

(D) Malala Yousafzai

125.

126.

127

128.

129.

AT 2015 Fi feafar F s Arave ¥ wey w4 A
(A) TET T

(B) =t. T fofg

(C) ToaTaTd

(D) #rowre fifg

Fraforfere & & aro #7219 =7 92T 3 = g9t F A
ST STTaT 9r?

(A) et

(B) Wi

(C) Farer

(D) =TT

Ty ot  averraer sifeaer § smar?

(A) 1965

(B) 1971

(C) 1969

(D) 1980

Tl o & £ ff o e fi wad A T4 2

(A) T

(B) o

(C) =T

(D) T

Fafafes & & 0 #fr vF awg f Fsfy e §2

(A) Rt
(B) Fregm
(C) =g
(D) #rEwaTaT

. 2014 ¥ erifa % forg e e R o gem an?

(A) forfr Zarst
(B) St Rrfere
(C) Frewrw e
(D) e T
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132.

133.

134.

135.

136.

. Which famous Indian cricketer is from Ranchi?

(A) Virat Kohii

(B) Mahendra Singh Dhoni

(C) Virendra Sehwag

(D) Yuvraj Singh

Which among the following cities is named as
‘Thousand Gardens"?

(A) Gumia

(B) Latehar

(C) Godda

(D) Hazaribagh

Which neighbouring country of India celebrates its
Independence Day on March 267

(A) Bangladesh .

(B) Nepal

(C) China

(D) Afghanistan v

Which of the following is the name given to India's
humanitarian relief operations in Nepal after the 2015
earthquake?

(A) Operation Safed Sagar

(B) Operation Meghdoot

(C) Operation Rahat

(D) Operation Maitri

Who appoints the Attorney General of India?

(A) Governor

(B) Chief Minister

(C) President

(D) Prime Minister

Which of the following neighbouring countries of India
is separated by Palk Strait?

(A) Sri Lanka

(B) Pakistan

(C) Afghanistan

(D) Bangladesh

131.

132.

138.

134.

135.

136.

i AT iirg areAy G O a R

() fre wresft

(B) 7w fife =t

(C) itz wgam

(D) Tarsr it L
ﬁaﬁﬁaﬁ%ﬁwmaﬁr"mw@%}m%m
ST 27

(A) T

(B) wmeET

(C) gt

(D) BwméTETT

ATTT FT HA A1 TEET 97 26 AT F FAAAT 7w
Bl

(A) Fivemaer

(B) Farer

(C) =

(D) st

AT 7 2015 F FET T AT AT F AT T2
#T4ATT (humanitarian relief operation) %t #m 717 f
T AT? :

(A) T T AT

(B) #iTeerT ey

(C) sifzerT Tz

(D) strrerT #=ff

AT 5 RETATaaTal (AT weeer) i el #i fear
(A) TToTTT

(B) Tt

(C) TrEmfer

(D) FerTeefT

WA % o TEET 797 # ar SerewEger (Palk Strait)
AT e T T 27

(A) TerT

(B) T

(C) s

(D) =iTaTRer
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137.

138.

139.

140.

141.

142.

What is the position of Jharkhand in the production of
iron ore in India as on Sep 20157

(A) First

(B) Second

(C) Third

(D) Fourth

Jharkhand Education Project Council was registered
on

(A) 16-Mar-2007

(B) 05-Feb-2011

(C) 12-Apr-2001

(D) 24-Jan-2003

The national language of Bhutan is

(A) Pashto

(B) Thai

(C) Dzongkha

(D) Amharic

The first Chief Minister of Jharkhand is

(A) Swaraj Kaushal

(B) V. C. Pandey

(C) Rama Jois

(D) Babulal Marandi

What is the code of Srilankan currency?

(A) SRD

(B) LKR

(C) INR

(D) SYP

The major part of the Sundarbans, the world's largest
mangrove forest, is located in which neighbouring
country of India?

(A) Bangladesh

(B) Sri Lanka

(C) Nepal

(D) Bhutan

137.

138.

139.

140.

141.

142.

Wzmsﬁﬁwﬁ'ﬁwmﬁmm
eqra § WICEVE FT 4T i A 7

(A) =T

(B) T

(c) F=a

(D) =TaT

s Rt e it (Jharkhand Education
Project Council) 1 & s By T A7

(A) 16-Mar-2007

(B) 05-Feb-2011

(C) 12-Apr-2001

(D) 24-Jan-2003

T i Tt e A E?

(A) F94T (Pashto)

(B) = (Thai)

(C) ifaT (Dzongkha)

(D) FFz1feE; (Amharic)

arETE ¥ WO T B A 87

(A) == T

(B) &, &Y. ITE

(C) TrHT SITEH

(D) e AL

SfieiaTS WaT #1 F1E T 87

(A) T LA

(B) TH ¥ AL

(C) 9 TA AL

(D) T ATE

Forvg ¥ T w3 AR T, T A AT A AT F
Forer T 2 H TR 77

(A) aTETE
(B) ATt
(C) ATt
(D) T
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143.

144,

145.

146.

147.

148.

Who among the following is the writer of National
Anthem of India?

(A) Bankim Chandra Chatterjee

(B) Rabindranath Tagore

(C) Ananda Samarakoon

(D) Hazari Prasad Dwivedi

In which of the following rivers the famous Dassam
Fall is formed in Jharkhand?

(A) Kanchi river

(B) Banai river

(C) Ramgarha river

(D) Burha river

In which of the following years, India Nepal Treaty of
Peace and Friendship was signed?

(A) 1950

(B) 1955

(C) 1960

(D) 1972

Which neighbouring country of India is connected
through the Nathu La Pass in the Himalayan ranges?
(A) Bhutan

(B) Pakistan

(C) China

(D) Nepal

Which of the following hills is also known as Morabadi
hil?

(A) Govardhan hill

(B) Tagore hill

(C) Lushai hill

(D) Rajgir hill

Which type of waste is polluting Subamarekha river of

Jharkhand?

(A) Thermal

(B) Radioactive
(C) Domestic

(D) Bio degradable

143.

144,

145.

146.

147.

148.

AT ¥ T T F s #5727

(A) & =5 T2
(B) =z e &
(C) s =g
(D) B4 wame FEady

sreaEve 7 Fafafig # § G a8 & vTag 2o e
AT E?

(A =t 7t

(B) =g Tt

(C) & w7 75T

(D) &t &

TrerferfarT & & B ad & wree Sorer ot = 6 w1y
(India Nepal Treaty of Peace ) 7% gereare fir &7
(A) 1950

(B) 1955

(C) 1960

(D) 1972

Fraferfr o & a7 e a7 w2t 2o Bawa A
et & Arger- T E e g 27

(A) gz

(B) e

(C) ==

(D) Fam=

Forer TR AT W wETd ¥ A & ot wrAy 9T 27

(A) st ey
(B) e werdt
(C) s aTEY
(D) Trifire T

sreee F gavioar 34 B i g FT o i w
w87

(A) =efer

(B) “feamenft
(C) =g

(D) Safasfiaer
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149,

150.

151.

152.

Who developed the vaccine agaitst Polic?

(A) Dr. Jonas Salk

(B) Dr. Edward Jenner

(C) Louis Pasteur

(D) Dr Har Gobind Khurana

Which of the following steel plants maijorly contributes
to the economy of Jharkhand?

(A) Bajaj Steel

(B) Steel India

(C) Reliance Steel

(D) Tata Steel

P is the mother of K and K is the only sister of D. How
is P related to D?

(A) Mother

(B) Father

(C) Sister

(D) Aunt

From the given four following answer figures for the
question, which figure is the correct water image of

the given figure in the question?

®

z

3 @

]

PHH®

149.

150.

151.

152.

W%Wmﬁﬁaﬂwﬁm%ﬁﬁmm?
(A) =t ST AT

(B) =f, TEAE FT

(C) E T

(D) =F. 7 A T
ﬁﬁﬁ@raﬁﬁmmmwﬂ@@rmwﬁ
spdmrareaT B T AT 87

(A) =Tt 2

(B) wiw Zfoea

(C) Fremam ==

(D) =T =i
P,K@rw%sﬁrK,Dzﬁmﬁm%ﬂ P % D % A1%
(A) wET

(B) T

(C) ==

(D) =Tt
w%m,ﬁﬁwﬁﬂﬁﬁﬂwmﬁﬁ%ﬁ
zﬁa@ﬁ,wﬁ%ﬂéa@ﬁﬁw@rwaﬁ(w-ﬁﬁj
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153.

154.

155.

156.

In three coloured boxes — Red, Green and Blue, 108
balls are placed. There are twice as many balls in the
Green and Red boxes combined as there are in the
Blue box and twice as many in the Blue box as there
are in the Red box. The number of balls in the Green
box is

(A) 18

(B) 36

(C) 45

(D) 54

Which number will complete the series if filled in the
blank spaces?

Tt 4,8, 90716, .....,

(A) 32

(B) 84

(C) 81

(D) 256

In the following question, there is some relationship
between the two given numeric (or alphabetic) terms
on left side of :: and the same relationship holds
between the two terms to its right. One term to the
right of ::
the alternatives in the question given below. Find out

is missing. This term is given as one of
the missing term.

21:3:574:7

(A) 23

(B) 82

(C) 97

(D) 113

Meena said, “Sudhir is the son of my father-in-law's
only son”. How is Sudhir related to Meena?
(A) Husband

(B) Brother

(C) Son

(D) Nephew

153.

154.

1565.

156.

AT, 2 3 A o7 F fi att §, 108 T et v

T S e e § wen w9 F T v qe i o
Ffer & ZRAT § A e ate # forae v 7 # 3w A
FtF 7 TAET ) gyt # ate f g FaAT g 7

(A) 18
(B) 36
(C) 45
(D) 54

ot T & s S 92 i o He e O f07
1.1,4,8,9,27, 18, ......

(A) 32

(B) 64

(C) 81

(D) 256

e v &, - i 37¢ e for sl (a7
FUTTEF) T 5 919 7 5= & 7 7o 7nd e R
2 9ET 5 A o i wE R F A AR ST s e
Aoz 72 81 g 7R 9 R au e F v oF fBEer F
= # fEgr 7 1 wE e 1 999 F9F deteaT 0w

T TAT 7T

21135747

(A) 23

(B) 82

(C) 97

(D) 113

At & ey, gt 7Y AT F T O A O 1 i
T HAT F 4T =T E?

(A) fe

(B) &

C T

(D) wreffs
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1587.

158.

159.

In the following question, two words are given. These
words are related to each other in some ways
according to their differences or commonalities.
Ano‘the;' word is given. Find out the retationship
between the first two words and choose the word
from the given alternatives, which bears the same
relationship to the third word, as the first two bear.

Much : Many :: Measure : ?

{A) Count

(B) Measures

(C) Calculate

(D) Weigh

Select a figure from among the four alternatives,
which when placed in the blank space of the figure in
the question, would complete the pattern.

? \\.
\“j‘
A)

hé

5

(B)

()

"7

Which of the words is different from the others by its
meaning?

(A) Bud
(B) Branch
(C) Leaf
(D) Plant

157.

158.

159.

Frerfertem s i 21 o7 R 1 7 e A A
%ﬁwﬁmm%ﬁwﬁﬁwﬁqﬁ@%%
ﬁﬁﬁﬁtwwmﬁwmg]ﬁ%asﬁﬁﬁqﬂ
mmﬁﬁqaﬂ?mwﬁmﬂﬁﬁﬁ@?mﬂw
W.WMW%M%WW@%WW
21 9rRi | 2

sifer ¢ g o TreT e ?

(A) Tt

(B) ATET

(C) smFea

(D) &=t

rmfarfrT =TT fawedt # & 0 Srgh w1 T 7,6 TT

& 4t 7§ argf 3 Fef o # T o 9, e AT
F 4T

?

\\

(A)

va

(8)

VAR

(©

(@)

f'
T AT o9% A A AT 0 9w ereAt # fie 87

(A) 5%
(B) =T
(C) 7911

(D) rem
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160.

161.

162.

163.

Find out the pair which is different from the other
given pairs.

(A) Mason-Wall

(B} Tailor-Dyeing

(C) Cobbler-Shoes

(D) Farmer-Crop

Twice a number decreased by 2.5 is equal to the
same number increased by 3.2. The number is

(A) 2.5

(B) 3.5

(C) 5.7

(D)y7.5

In the following question, there is some relationship
between the two given numeric (or alphabetic) terms
on left side of :: and the same relationship holds
between the two terms o its right. One term to the
right of :: is missing. This term is given as one of
the alternatives in the question given below. Find out
the missing term.

CLOSE : DNRWJ :: OPEN : ?
(A) RZWR

(B) PRJQ

(C) RPJB

(D) PRHR

Which of the words is different from the others by its
meaning?

(A) Barometer

(B) Thermometer

(C) Diameter

(D) Lactometer

160.

161.

162.

163.

TH STE F AT FE AT R0 T0 o A F P 2

(A) Trorfire - drame

(B) =it - Fmre

(C) =T — g7

(D) B - waer

TF HET ¥ I H F 2.5 T FAT A HEAT # 3.2 T
F T ST 21 e oy 27

(A) 2.5

(B) 3.5

(C) 5.7

(D) 7.5

et wa &, o 1 918 &b B s (ar
AATTHT) TF F I T G20 £ 3w 7EE 77 e Ry oy
21 vEt % e off 7 Faw ) F A A T uE
HrorE 7 21 97 T2 A B o ¥ Ay v G

=9 F faam &1 w8 e 71 99w w79 atem T
T 9AT FATT

CLOSE : DNRWJ :: OPEN ; ?

(A) RZWR
(B) PRJQ
(C) RPJB
(D) PRHR

IR T 95T YT A F AT T A7 9r=at F e 22

(A) Firfier
(B) amidi=y
(C) Tamftex
(D) T
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x

164. The question consists of five figures followed by four 164, W ¥ 91 sigfaat &t 1§ & B A9 A1 A= ARt

other figures. Select a figure from these four &g §1 37 = et g uE 3“3;1% EH.“W qﬁ\q‘-r T
alternatives which will continue the same series as # &t 8 wie awpioat gy wnfi e Fsr @s
established by the five figures in the question.

) ) ) ( )

Y Ot (B éH }“"(E %%; i;; (%

(A) (A)
(B) (B)
© ©

165. A diagram is given here in which bricks are arranged ~ 165. =gt 5 wa - fam o & it €27 77 v i

in a certain manner. 1 H srafeas i

In the following question the number of bricks et v # 37 50 6 g & 7 o o i
touched by a certain brick is asked. = F el BT E

Brick A touches how many bricks? 2z A Tt €27 = e wet 27
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166. In the following question, two words are given. These

166. afelEm wr & 2 ooz Ru o &) § o2 sow i

167.

168.

169.

words are related to each other in some ways
according to their differences or commonalities.
Another word is given. Find out the relationship
between the first two words and choose the word

from the given alternatives, which bears the same

Tafermrarett a7 wATTTe ¥ gy el o # uF g H

HeATom 1w o ares R e ) weS &1 o= F A= A
Teer ST ST S Ry Ty et o & OF ores F A9
Fifor, R dew A o7 F |re 447 &1 2, far o

r er=at F 81

relationship to the third word, as the first two bear, waE T e 2
Flow : River :: Stagnant : ?

(A) Rain A s

(B) Stream (B) =TT

(C) Pool (©) T

(D) Canal (D) 7%

If thrice A's age 6 years ago is subtracted from twice
his present age, the result is his present age. His
present age is

-t A £ 6 ad g it s F1 i ET I adE vy s

AN F F sy S & /1 ofory # g e arg
TR BT 21 SHEr adaT g v g 7

(A) 9 years -9 H:;

(B) 11 years @ 1

(C) 17 years h i
(D) 18 7

(D) 18 years

In the following question which number will complete

- T vy ¥ e wae A S w #e o der Swe #

the series if filled in the blank spaces? T FAT?

AcTi2 19,28, ... 47 121828, ......
(A) 30 (A) 30

(B) 36 (B) 36

(C) 39 (C) 39

(D) 49 (D) 49

If A is to the south of B and C is to the east of B, in

AR A BEIRME LA C, B R AR C A F

what direction is A with respect to C? A T T 7 27
(A) North-east (A) IeTT -1F

(B) North-west (B) T9T — i
(C) South-east (C) aftror —oF
(D) South-west (D) =fErr — i
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170.

171.

172.

173.

Ais theimether of B. B is the only son of C. How is A

related to 67 ;

(A) Husg%i? i

(®) Wite < 5. .

C) Daugilter

(D) Cannot be determined

In the following question, two words are given. These

words are related to each other in some ways

according to their differences or commonalities.

Another word is given. Find out the relationship

petween the first two words and choose the word

from the given alternatives, which bears the same

relationship to the third word, as the first two bear.
TR

Smoke : Poltl.st_ilqul: War: ?

(M) Victory N5

(B) Treaty

(C) Defeat

(D) Destruction

Ais the father of B. B is the father of C. D is the

daughter of C. How is C related to A7

(A) Grand-son

(B) Grand-daughter

(C) Great grand daughter

(D) Cannot be determined

In the following question, four words are given, out of

which three are alike in some manner, while the

fourth is different. Select the option which indicates
the different one.

(A) Geometry
(B) Algebra

(C) Arithmetic
(D) Mathematics

170.

171.

172.

173.

ABRATIES

iy r%‘? smog 11 1

e AR e

(8

(C) T, . :

(D) Fraife =& w @
ﬁwﬁ‘r%ﬂ.wﬁ?rslﬁﬁqm%ﬁ&ﬁmﬁ{nﬂ
FrfRrsreTSir AT ATAATE ¥ AT et v o g
mﬁﬁlﬁmmﬁmw%m@ﬁsﬁﬁﬁw
srejer e Frfor e fa arw Redt # & 0 e F T
ﬁ%q,ﬁwﬁﬁwﬁa*w%mwﬂmﬁ%ﬁmqﬁ
2t er=E # 8

e TR i qE L ?

(A) s

(8) &f&r

(C) W=

(D) fammer

A BT a2 8, CH T &1 D, CR T 1A CAw
A AT T T 82

@t

(B) 7T

(C) =T

(D) Foraffea 78 ¢ 7%4

Frertartar e # = oA R &, e & div 1w

i 3 T S # St ST e 21 T e A
L ST HAT 2

(A) =TT
(B) i
(C) ST
(D) TP
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174.

175.

In a class there are 18 boys who are over 1680 cm tall.

If these constitute three-fourths of the boys and the
total number of boys is two-thirds of the total number
of students in the class, the number of girls in the
class is

(A) 6

(B) 12

(C) 18

(D) 24

From the given four following answer figures for the

question, which figure is the correct mirror image of
the given figure in the guestion?

il

(A)

(B)

()

=l

)

U"‘_z

174

175.

uF HT I 18 W2 F € w7 160 ddnfizr & wftr v &1 7l
I TEHT F A= TATE A ¥ AT FAT H A A T
AT, BIAT T T Hear F GI-fAgrs g a1 wan § atet
#f we frt 22

(A) 6

{B) 12

(C)18

(D) 24

w3 Rry Frafrf = owe srfet & &, wr i & d
arF i wEt (afw wf) Fre-aier sl w32

1

(A)

(B)

(©)

(D)

) ) ) [
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176,

177.

178.

178.

K walks 10 km towards North. From there he walks
6 km towards South. Then he walks 3 km towards
East. How far and in which direction is he with
reference to his starting point?

(A) 5 km West

(B) 5 km North-gast

(C) 7 km East

(D) 7 km West

You are facing east. You turn 100° in the clockwise
direction and then 145° in the anti-clockwise
direction. Which direction are you facing now?

(A) North

(B) East

(C) North-east

(D) South-east

In the following question which number will complete
the series if filled in the blank spaces?

9, 27, 31, 155, 161, 1127, ......

(A) 1135

(B) 1288

(C) 2254

(D) 2885

In the following question, there is some relationship
between the two given numeric (or alphabetic) terms
on left side of :: and the same relationship holds
between the two terms to its right. One term to the
right of :: is missing. This term is given as one of
the alternatives in the question given below. Find out
the missing term.

26:5:65:7
(A) &
(B)7
(C)8
(D)o

176.

177.

178.

179.

K 3 9 10 Pt v ) 7t i 7 A
6 Pt oo &1 5% aTe ag 3 Pl o F srerar &1 S
TTCR-Ee 3 wad & 7 fet g o P Romr 8§ 82

(A) 5 et wfrm

(B) & fmft geregd

(€) 7 Fft

(D) 7 Foreft aferr

AT g4 ¥ S W 0% =@ §) oy =R R i 100°
& o amamare faam # 145° qwa ) e ary frg R §
wWwE?

(A) T

®) T

(C) so-gd

(D) FfRror-g%

o w7 ¥ s e & stk o v A oft e e A
T FAA?

0,27 31,955,183 1127, ...

(A) 1135

(B) 1288

(C) 2254

(D) 2885

Fafafem wor &, ard e B s @
HLHF) T2 F 19 T2 69 § o oo ard s Rwm
21 odt i oft 7 wEe 3 F o7 i Ry o e
Aoz T 81 g 7= A Ry o v g vw B F
= F By ma &) v e 51 w79 w0 aafa ww
T TAT FT

26:5:865:7?

(A) 6
(B 7
(€8
(D)o
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180. In the following question, four wor'c_ls have been given,

181.

182.

out of which three are alike in some manner, while
the fourth one is different. Select the word which is
different from others.

(A) Cumin

(B) Groundnut

(C) Clove

(D) Pepper

If Neena says, "Anita’s father Raman is the only son
of my father-in-law Mahipal”, then how is Bindu, who
is the sister of Anita, related to Mahipal?

(A) Grand-daughter

(B) Daughter

(C) Niece

(D) Wife

In the following question, out of the four figures, three
are similar in a certain manner. However, one figure

is not like the other three.

Which is the figure that is different from the rest?
(A)

(B)

(©)

©)

=< HES ISR

180.

181.

182.

Fafafm e s o= Rumw g A a = 5=
TF & T A § st = e 81 29 R a1 wme
w457 o 81

(A) T

(B) Horeft

(C) =fir

(D) FTeit s

T AT Tt 8, o ¥ fimr v 87 5w F
AT O £ A7 g, S o f 3w 2, vlgme a G
(A) eft

(B) T

(C) weftsft

(D) =t

Fraferfm v &, 3 srafeat § &, $iv vs Ffem a8

F T F1 FAF, U Argdt, Ay o st F aee
T

Freeft st AT st & fr 27
(A)

<

(B)
i o
o |, $ """"" 1
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183. In a family the father took % of the cake and he had 3
times as much as each of the other members had.
The total number of family members is
(A3
B)7
(Cy10
(D) 12

184. Qut of the given figures three are similar in a certain
way. One figure is not like the other three figures.
Spot the figure that is different.

@ !’E__q
(8) @
© _j]

© |
j=—

185. In the following question, there is some relationship
between the two given numeric (or alphabetic) terms
on left side of :: and the same relationship holds
between the two terms to its right. One term to the
right of :: is missing. This term is given as one of
the alternatives in the question given below. Find out

the missing term.

G b M LR
(A1
(B)2
(C)6
o7

183.

184.

185.

o T B e & 7 Y T AT A S o S
mmmﬁqwﬁmeﬁﬂwmmw
% Tzt ) g FeAr T 82

(A) 3

®7

(Cy 10

(D) 12

ﬂﬂéa@ﬁﬁﬁﬁ?ﬁﬂmﬁlﬁ@ﬁﬁmaﬂ%ﬂw
) o s i T AR 3w A 81 I A
7 AT ST S S ATt 7 e )

(A)
A

(8) j@'::\
© E;ﬂ
(D) @

i wor &, o Fr 3T Sire Rw  sif (ar
HETTHF }w%aﬂﬂrﬁm%aﬁ'{mﬁmﬁqw
Fr st 5 A o 39 FEe §1 0 ¥ ard S P A OF R
g 8 &1 = A fe g 6 A O e §

mﬁﬁmw%laﬁﬁ%ﬁwmﬁq@ﬁw
T AT T

122125257

(™ 1
(B) 2
(C)6
y7
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186.

187.

188.

In the following question, there is some relationship
between the two given numeric (or alphabetic) terms
on left side of :: and the same relationship holds
between the two terms to its right. One term to the
right of @ is missing. This term is given as one of
the alternatives in the question given below. Find out

the missing term.

acE : bdF :fhd : ?

(A) giK

(B) ghk

(C) dfH

(D) fhL

In the following question which number will complete
the series if filled in the blank spaces?

2, 4,12, 48,
(A) 96

(B) 105

(C) 240

(D) 296

In the following question which number will complete
the series if filled in the blank spaces?

0.5, 0.55, 0.65, 0.8, ......

(A) 0.9

(B) 0.82

(C)1

(D) 0.95

186. Frgrforfers w7, 1 F ave @ R A s (A

serTeneR) e ¥ A 7 waw & sfe g A A R an
v oEf ¥ i off Ad) w21 o s o R T ow e
vﬁqﬁaﬁfétﬁﬁﬁ%ﬁqmw%ﬁwa@ﬁmﬁ
= # Frr T 21 T P FT SA FE AT E 0%

T TAT AT

acE : bdF = fhd : ?

(A) giK
(B) ghK
(C) dfH
(D) faL

. P 5o & Foes 2Ty § ¢ ST 9T A A HEAT SET

T A7
2,4,12,48, ...
(A) 96

(B) 105

(C) 240

(D) 296

. e o g v & T ST O F 1 AT TS S A

T QT FAT?

0.5, 0.55, 0.65,0.8, ......
(A) 0.9

(B) 0.82

(C) 1

(D) 0.95
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189.

180.

191.

A diagram is given here in which bricks are arranged
in a certain manner.

In the following guestion the number of bricks
touched by a certain brick is asked.

Brick D touches how many bricks?

(85

C)4

(D)8

In the following question, two words are given. These
words are related to each other in some ways
according to their differences or commonalities.
Another word is given. Find out the relationship
between the first two words and choose the word
from the given alternatives, which bears the same
relationship to the third word, as the first two bear.
Oxygen : Burn :: Carbon dioxide : ?

(A) Isolate

(B) Foam

(C) Extinguish

(D) Explode

X starts walking from the place 'A’ 4 km east and
reaches place ‘B, then turns right. After going 3 km
straight he stops at the place 'C’. The distance
between ‘A’ and ‘C' is

(A) 4 km

(B) 5 km

(C) 6 km

(D) 7 km

189. w2t fter ven Y-y oy wram & Gorerdt 287 7 um e

190.

191.

&1 | =iy A &)

Fafafee v # 57 225 6 = = ¢ & 57 vE e
2z ¥ o gt E

£z D Tt E7 Fr wof et &7

L

(A) el

(B) 5

(4

(D)6

et w7 & 91 9w fu aw §) 3 gz s i
FErfarerarat o wTTaTet F o e s H v g A
AT & wF e a1e% AT T §) wwe Ay s F A v
ety ST FIR o B o faedt & & T o AT e
Frfor, Sy w4y i o=x % arg Far & &, S e
aY o1l H |

FFHTAT : o7 2 A ST TR ?

(A) FzB1
(B) =
(C) Z&TAT
(D) Frewre

X, ¥ ‘A ¥ 4 Ferriter 7F & F91 9% 9T 2 6
T B 9T TEAT 2, THF 91 TE A1 g F1AT 2

3 Feirefte =ffe I ¥ 912 78 ™ ‘G 0T AT ECA
AT 'C’ ¥ A Ft 5 Rt 27

(A) 4 Freft

(B) 5 faft

(C) B faft

(D) 7 Tt
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192.

193.

In the following question, four words have been given,
out of which three are alike in some manner, while
the fourth is different. Select the option which
indicates the difference.

(A} Curd

(B) 0il

(C) Butter

(D) Cheese

A, B,C,D,E,F, G, Hand | are nine houses, C is

2 km east of B. A is 1 km north of B and H is 2 km
south of A. G is 1 km west of H while D is 3 km east
of G and F is 2 km north of G. | is situated just in the

middle of B and C while E is just in the middle of H
and D.

What is the distance between B and H?
(A) 0.5 km

(B) 1 km

(C) 1.5 km

(D) 2 km

192.

193.

el s & wre orex fivy w0 &, Foveret & A 5
T # UF S ¢ Tt FAr s 81 39 B 7 T
FE T ST )

(A) =

(B) &=

(C) waaT

(D) =

A.B,C,D E, F, G H= I av§ C, B ¥ 2 Bl o
HHABTI i momHdeH AF 2 infi
FEMF G HF 1 i Rm i =D eF

3 T E AR F GF2fefrm e d a1, B
FCCHFAT H AT T o= E, Hfm DF & wem 1 2)

B &% H ¥ 1= ft gft T 87

(A) 0.5 farddt
(B) 1 fredt
(C) 1.5 farefy
(D) 2 fasft
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194. The question consists of five figures followed by four ~ 194. sy & it gt 1 7€ # P o AT s Arptaat
other figures. Select a figure from these four A TEE T ﬁﬁcﬁ & T ArF A1 A LA T
alternatives which will continue the same series as & £y bt et g ey s AT T
established by the five figures in the question.

AR AR g1 1| B |

(A) (A)
D >
(B) )]
d d
() % (© Ctb
(D) )
I LV
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195. The question consists of five figures followed by four 195, o # i argfat 47 wE § e A T A At

other figures. Select a figure fromthese four HarE #) 5 = Pt & v g 57w 7 Ao
alternatives which will continue the same series as # 4y wré = sFhEr g e ’{Eﬂ‘fﬁmﬂ T
established by the five figures in the question. ! o8- gHE
{] E3- -3 { i 0
o [ &8 Opeiowe @ L
o |00 0 |2B& 0 0 jo @ 0 ja.of [
o S o i O o o
g o o O {o<Es 0
(A
® e o : " B 1 :
o O a o
B
(B) O (8) O
25" & 0
0
(©) 3 W, (C) g
2 B g 0
O
D
(D) 0 (D) a0
o 0 xy
)
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196. In the following question out of the four figures, three 196. Fwferer w7 #, 7% Arpfeal # 7 e vk e ol ¥

are similar in a certain manner. However, one figure W%l %T?-rﬁw ATFelT, AT T AFITET F FHA
is not like the other three. Rkt
Which figure is different from the rest? 1 a“—fﬁ T SpfaAT # for %”
(A (A)
(B) q ® q
(€) (C) F
(D) x (D) x
197. Select a figure from among the four alternatives, 197. Frafafa T fwet # & uF @y 0 =597 :¢, o 97
which when placed in the blank space of the figure in & &1k sl % Fow o # w0 o e, e
the question, would complete the pattern. F4
? .7
(A) (A)
(B) (B)
() ()
g
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198. A solid cube of each side 8 cms, has been painted

red, blue and black on pairs of opposite faces. It is

then cut info cubical blocks of each side 2 cms as
given in this picture below. Observe this picture
carefully and answer the question by selecting the
correct options.

How many cubes have 2 faces painted black?
(A) 0
(B) 2
(C) 4
(D)8

199. Select the word which is NOT similar to the other
words in the group according to its meaning.
(A) Animal
(B) Man
(C) Worm
(D) Hammer

200.
words are related to each other in some ways
according to their differences or commonalities.
Another word is given. Find out the relationship
between the first two words and choose the word
from the given alternatives, which bears the same
relationship to the third word, as the first two bear.

Tuberculosis : Lungs :: Cataract : ?
(M) Ear

(B) Throat

(C) Skin

(D) Eye

In the following question, two words are given. These

198,

199.

200.

o 8 HEnfz Ty AT O Brer o ¥ (e vt %
STET 9% |, ST @ wrem o iz Gy v & e oaE
3 fim o o ® gt sigEme weas 2 dffer wer A
Tt s lEE H wTeT T §1 59 R f e 4 5 AT Aar
TEerT 7 9T 0 WAl F I A

[ o
Du-l
2én v
ey ==t % 2 Wt T e G BT g 27
(a) 0
(B) 2
€4
(D) 8

TH 91EE AT FAT KL AT ATH A F AT THE F AA
9TEET % HATT AR B

(A) T

(B) T

(©)

(D) BefteT

FraforiRm wr % 21 o= fw e 1 T oz o fi
ATt 71 T A et ey uw gEe A
Tefere &) v o o= T T 21 uee A ot w i
s ST oA P P 3 O g1z A A A

o wey Fe orss F T & A &, S TE a1 arsEr
T8

BRI LT 7 A | e

(A) BT
(B) =T
(C) 7=

(D) sitm
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Instructions / fAst

Please read the following instructions carefully:

1. Write your Roll Number, Question Booklet Number and
Question Booklet Series on the OMR Answer Sheset
carefully and sign at the appropriate place. Please note
that in absence of the correct Roll number, Question
Booklet Mumber and Question Booklet Series and

Signature on the OMR Answer Sheet, your OMR Answer
Sheet will be treated as invalid and will not be evaluated.

2. Strictly follow the instructions given by the Centre
Superintendent / Centre Observer/ Room Invigilator and
instructions given on the Question Booklet.

3. Candidates are not allowed to carry any papers, notes,
books, calculators, cellular phones, scanning devices,
pagers etc. to the Examination Hall. Any candidate found
using, or in possession of such unauthorized material or
involved in copying or impersonation or adopting unfair
means or behaviors will be disqualified and may be

subjected to penal action.

4. This examination is of objective type. The question
Booklet contains a total of 200 questions and the total
time allotted is 180 minutes. All questions are compulsory
and carry 1 mark each. Every correct answer will get 1
mark and 0.333 mark will be deducted for each wrong
answer.

5. The candidates must check that the Question Booklet
has 200 questions with multiple choice answers. If any
discrepancy is found, immediately report to the Invigilator,
so that Question Booklet may be replaced.

6. Each objective question is followed by four answers
among which one is correct. Your task is to choose the
correct answer and mark your answer on the OMR
Answer Sheet, NOT on Question Booklet.

7. Completely darken the CIRCLE so that the alphabet
inside the CIRCLE is not visible. Darken only one circle for
each answer. The CORRECT and the WRONG method of
darkening the CIRCLE on the OMR answer sheet are

given in the example below:

Correct Method

00800

Wrong Method
0000

000
O0®00
00®@0O

8. Use black ink ball point pen for filing the boxes and
darkening the circle on OMR Answer Sheet. Do not use

pencil.

9. In view of the limited times span, do not waste your
time on a question which you find to be difficult. Go on
solving questions one by one and come back to difficult
questions at the end. It is only an advice.

10. Folding/ wrinkling or putting any unwanted mark or
damaging the OMR Answer sheet is prohibited. The
candidate will be responsible for invalidation of the OMR
Answer sheet for doing such deeds.

11. Space has been provided at the end of the Question
Booklet for rough work.

12. The OMR answer sheet will have to be submitted to
the invigilator after the examination. Candidates are
allowed to carry their Question Booklet from the
examination hall after the examination.

13. Questions are in Hindi and English. If any discrepancy
in either of the versions of question is present then that
question will be cancelled.
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